29.15. Model: Energy is conserved. The potential energy is determined by the electric potential.

Visualize: Before After
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The figure shows a before-and-after pictorial representation of an electron moving through a potential difference.
Solve: (a) Because the electron is a negative charge and it slows down as it travels, it must be moving from a
region of higher potential to a region of lower potential.

(b) Using the conservation of energy equation,
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Assess: The negative sign with AV verifies that the electron moves from a higher potential region to a lower
potential region.



